

Bol. Soc. Paran. Mat. ©SPM -ISSN-2175-1188 on line SPM: www.spm.uem.br/bspm (3s.) **v. 2024 (42)** : 1–9. ISSN-0037-8712 IN PRESS doi:10.5269/bspm.65363

Picture Fuzzy Normed Linear Space

Kalyan Sinha and Pinaki Majumdar

ABSTRACT: Picture fuzzy set (PFS) is a recent advancement tool to deal with vulnerability. It is an immediate expansion of intuitionistic fuzzy set that can display vulnerability in such circumstances including more responses of these kinds: indeed, decline, no. In this manuscript the idea of Picture fuzzy normed linear space (PFNLS) is discussed for the first time. Naturally PFNLS is an hybrid concept of PFS and normed linear space. Also Convergence in PFNLS are shown. Later on Completeness property on PFNLS are explored. Finally boundedness of Cauchy sequence in PFNLS is analysed.

Key Words: Normed linear space, norm, co-norm, picture fuzzy set, picture fuzzy normed linear space.

Contents

1	Introduction	1
2	PFNLS	2
3	Convergence in PFNLS	3
4	Completeness on PFNLS	4
5	Conclusion	8

1. Introduction

In 1965 Prof. Zadeh initiated Fuzzy set (FS) theory in [1]. Basically FS was the first step of generalizing the ancient conceptualization of classical set theory to combat with the unpredictability. However there were limitations of FS too. To overcome the limitations Atanassov [2,3,10] further generalised FS theory and launched the concept of Intuitionstic FS (IFS) theory. Here degree of neutrality was not taken into consideration. Prof. Cuong and Kreinovich added the concept of neutral membership in IFS theory and gave us a beautiful concept of new set i.e. Picture Fuzzy Set (PFS) in their paper [19]. Naturally PFS can be considered as a generalization of IFS. With the advancement of time several researchers had shown interest on PFS theory and different types of research work were done on PFS theory [9,20,22,23,24,25].

On the other hand Normed linear space is the important pillar of Functional analysis, a major branch of modern mathematics. In 1992 Prof. Felbin introduced Fuzzy normed linear space (FNLS) [4]. It was shown in [6,11] that every finite dimensional FNLS holds fuzzy norm uniquely w.r.t. fuzzy equivalence. In 1993 Prof. Felbin further established that any finite dimensional FNS is necessarily complete. In 2003 Prof. Bag and Samanta [12] decomposed the Fuzzy norm to a usual crisp norm. This paper opened the way of different approaches of study of FN spaces. As a result different articles on FNLS had been published and various developments of FNLS i.e. Intuitionistic FNLS, Neutrosophic NLS, n-FNLS [5,7,8,13,14,15,21,26,28,29] etc are done. In this article we have defined Picture Fuzzy normed linear space for the first time. Since PFS is a generalization of IFS, thus PFNLS is a much more generalised concept than the other previous concept. our manuscript is organized as following: In Section 2 the definition of PFNLS is given and a suitable example is provided for better understanding. In Section 3 Convergence in PFNLS is shown. In the next section Completeness property of PFNLS is explored. Here we have proved that that every finite dimensional PFNLS is complete. Finally Section 5 concludes our article.

²⁰²⁰ Mathematics Subject Classification: 54F99, 68P01.

Submitted October 09, 2022. Published January 21, 2023

K. Sinha and P. Majumdar

2. PFNLS

To realize PFNLS, we request our readers to read the idea of t-norm say \odot and t-conorm say \circ at first. The details about t-norm and t-conorm can be found in any standard article say [26]. Since PFS is a continuous development of FS and IFS. The preliminary idea of PFS, a new theory introduced by Cuong et. al. was first published in 2013 in [19]. This section introduces us the concept of PFNLS based on PFS theory. Further we have provided an example of PFNLS for smooth understanding in this section.

Definition 2.1. Suppose U be a linear space over \mathbb{R} . A picture fuzzy subset

 $A = \{ ((\alpha, r); P(\alpha, r), Q(\alpha, r), R(\alpha, r)) : (\alpha, r) \in U \times \mathbb{R}^+ \}$

is called a PF norm on U w.r.t. continuous t-norm \odot and t-co-norm \circ respectively if the following holds:

- (a) $P(\alpha, r) + Q(\alpha, r) + R(\alpha, r) \le 1 \quad \forall (\alpha, r) \in U \times \mathbb{R}^+.$
- (b) $P(\alpha, r) > 0.$
- (c) $P(\alpha, r) = 1$ iff $\alpha = 0$.
- (d) $P(k\alpha, r) = P(\alpha, \frac{r}{|k|}), k \in \mathbb{R} \setminus \{0\}.$
- (e) $P(\alpha, r) \odot P(\beta, s) \le P(\alpha + \beta, r + s).$
- (f) $P(\alpha, .)$ is non-decreasing mapping of \mathbb{R}^+ and $\lim_{n \to \infty} P(\alpha, r) = 1$.
- (g) $Q(\alpha, r) > 0.$
- (h) $Q(\alpha, r) = 0$ if and only if $\alpha = 0$.
- (i) $Q(k\alpha, r) = Q(\alpha, \frac{r}{|k|}), k \in \mathbb{R} \setminus \{0\}.$
- (j) $Q(\alpha, r) \circ Q(\beta, s) \ge Q(\alpha + \beta, r + s).$
- (k) $Q(\alpha, .)$ is non-increasing function of \mathbb{R}^+ and $\lim_{r \to \infty} Q(\alpha, r) = 0$.
- (1) $R(\alpha, r) > 0.$
- (m) $R(\alpha, r) = 0$ iff x = 0.
- (n) $R(k\alpha, r) = R(\alpha, \frac{r}{|k|}), k \in \mathbb{R} \setminus \{0\}.$
- (o) $R(\alpha, r) \circ R(\beta, s) \ge R(\alpha + \beta, r + s).$
- (p) $R(\alpha, .)$ is non-increasing mapping of \mathbb{R}^+ and $\lim_{n \to \infty} R(\alpha, r) = 0$.

Here (U, A, \odot, \circ) is called a PFNLS. We will denote (U, A, \odot, \circ) as (U, A) throughout this article.

Example 2.2. Suppose $U = (\mathbb{R}, \|.\|)$ be NLS with $\|.\| = |x| \forall x \in \mathbb{R}$. Considering $a_1 \odot a_2 = \min\{a_1, a_2\}$ and $a_1 \circ a_2 = \max\{a_1, a_2\} \forall a_1, a_2 \in [0, 1]$ we take $P(\alpha, r) = \frac{r}{r+c|\alpha|}, Q(\alpha, r) = \frac{c|\alpha|}{r+c|\alpha|}, R(\alpha, r) = \frac{|\alpha|}{r}, c > 0$. We take $A = \{(\alpha, r); P(\alpha, r), Q(\alpha, r), R(\alpha, r)\}$. Clearly (U, A, \odot, \circ) is an PFNLS.

3. Convergence in PFNLS

Definition 3.1. A sequence $\{s_n\}$ in a PFNLS (U, A) is said to be convergent and converges to $s \in U$ if for any $\epsilon_0 > 0$, r > 0, $\exists n_0 \in \mathbb{N}$ such $P(s_n - s, r) > 1 - \epsilon_0$, $Q(s_n - s, r) < \epsilon_0$, $R(s_n - s, r) < \epsilon_0$, $\forall n \ge n_0$ and $\epsilon_0 \in (0, 1)$.

Theorem 3.2. A sequence $\{s_n\}$ converges to $s \in V$ in a PFNLS (U, A) iff $\lim_{n \to \infty} P(s_n - s, r) = 1$, $\lim_{n \to \infty} Q(s_n - s, r) = 0$, $\lim_{n \to \infty} R(s_n - s, r) = 0$.

We omit this proof as the proof is very straight forward.

Theorem 3.3. Every convergent sequence $\{s_n\}$ in a PFNLS (U, A) has distinctive limit.

Proof. Suppose the limit of $\{s_n\}$ is not unique i.e. $\lim_{n\to\infty} s_n = l_1$ and $\lim_{n\to\infty} s_n = l_2$. Then for $s, t \in \mathbb{R}^+$ and $s, t \to \infty$ we have,

$$\lim_{n \to \infty} P(s_n - l_1, s) = 1, \lim_{n \to \infty} Q(s_n - l_1, s) = 0, \lim_{n \to \infty} R(s_n - l_1, s) = 0,$$
$$\lim_{n \to \infty} P(s_n - l_2, t) = 1, \lim_{n \to \infty} Q(s_n - l_2, t) = 0, \lim_{n \to \infty} R(s_n - l_2, t) = 0,$$

Then $P(l_1 - l_2, s + t) \ge P(s_n - l_1, s) \odot P(s_n - l_2, t)$. Considering limit as $s, t, n \to \infty$ we have

 $P(l_1 - l_2, s + t) = 1$

In a similar way we have $Q(l_1 - l_2, s + t) = 0 = R(l_1 - l_2, s + t)$. Thus $l_1 = l_2$ and we are done.

Theorem 3.4. If $\{s_n\}$ and $\{t_n\}$ are two convergent sequence in a PFNLS (U, A) such that $\lim_{n \to \infty} s_n = s$, $\lim_{n \to \infty} t_n = t$ respectively. Then the followings hold:

- (a) $\lim_{n \to \infty} (s_n + t_n) = (s + t)$ in an PFNLS (U, A, \odot, \circ) .
- (b) $\lim_{n \to \infty} (s_n t_n) = (s + t)$ in an PFNLS (U, A, \odot, \circ) .
- (c) if $c \in \mathbb{R}$ then $\lim_{n \to \infty} cs_n = cs$ in an PFNLS (U, A, \odot, \circ) .

Proof. (a) Suppose $m_1, m_2 \in \mathbb{R}^+$. Then

$$\lim_{n \to \infty} P(s_n - s, m_1) = 1, \lim_{n \to \infty} Q(s_n - s, m_1) = 0, \lim_{n \to \infty} R(s_n - s, m_1) = 0,$$
$$\lim_{n \to \infty} P(t_n - t, m_2) = 1, \lim_{n \to \infty} Q(t_n - t, m_2) = 0, \lim_{n \to \infty} R(t_n - t, m_2) = 0,$$

Again

$$\lim_{n \to \infty} P[(s_n + t_n) - (s + t), m_1 + m_2] \ge \lim_{n \to \infty} P(s_n - s, m_1) \odot \lim_{n \to \infty} P(t_n - t, m_2)$$

= 1 as $m_1, m_2 \to \infty$.

Thus $\lim_{n \to \infty} P[(s_n + t_n) - (s + t), m_1 + m_2] = 1.$ In a parallel way one can easily see that, $\lim_{n \to \infty} Q[(s_n + t_n) - (s + t), m_1 + m_2] = 0 = \lim_{n \to \infty} R[(s_n + t_n) - (s + t), m_1 + m_2].$

We omit the proof of the part (b) and part (c) due to the similarity with part (a).

K. Sinha and P. Majumdar

4. Completeness on PFNLS

In this section we will study the completeness property on PFNLS. For this reason we have to introduce the concept of Cauchy sequence in PFNLS. After introducing the concept of Cauchy sequence in PFNLS we will study the several characteristics of complete PFNLS.

Definition 4.1. A sequence $\{s_n\}$ in PFNLS (U, A, \odot, \circ) is said to be bounded if for any $\epsilon \in (0, 1)$ and $r > 0, P(s_n, r) > 1 - \epsilon, Q(s_n, r) < \epsilon, R(s_n, r) < \epsilon \ \forall n \in \mathbb{N}$ hold.

Definition 4.2. Consider a sequence $\{s_n\}$ in PFNLS (U, A, \odot, \circ) . Then $\{s_n\}$ becomes a Cauchy sequence $if given \ \epsilon_0 \ \in \ (0,1), r \ > \ 0, \exists \ k \ \in \ \mathbb{N} \ s.t. \ \ P(s_n - s_m, r) \ > \ 1 - \epsilon_0, Q(s_n - s_m, r) \ < \ \epsilon_0, R(s_n - s_m, r) \ < \ \epsilon_0, R(s_n - s_m, r) \ < \ \epsilon_0, R(s_n - s_m, r) \ < \ R(s_n - s_m, r) \$ $\epsilon_0 \forall m, n > k.$

Alternatively $\{s_n\}$ is supposed to be Cauchy if $\lim_{n \to \infty} P(s_n - s_m, r) = 1$, $\lim_{n \to \infty} Q(s_n - s_m, r) = 1$ $0, \lim_{n,m\to\infty} R(s_n - s_m, r) = 0 \text{ as } r \to \infty.$

Theorem 4.3. In PFNLS (U, A, \odot, \circ) a sequence which is convergent must be a Cauchy sequence.

Proof. Consider $\{s_n\}$ in (U, A, \odot, \circ) s.t. $\lim_{n \to \infty} s_n = s$. Then for $l_1 \in \mathbb{R}^+, \exists k \in \mathbb{N}$ s.t. for $m, n \ge k$

$$\lim_{n,m\to\infty} P(s_n - s_m, l_1) \ge \lim_{n\to\infty} P(s_n - s, \frac{l_1}{2}) \odot \lim_{m\to\infty} P(s_m - s, \frac{l_1}{2}) \ge 1$$

Thus $\lim_{n,m\to\infty} P(s_n - s_m, l_1) = 1.$

Similarly we can show that $\lim_{n,m\to\infty} Q(s_n-s_m,l_1) = 0$, $\lim_{n,m\to\infty} R(s_n-s_m,l_1) = 0$. Hence $\{s_n\}$ is Cauchy in (U, A, \odot, \circ) . However our next example exemplifies that the converse of Theorem 4.3 is not true.

Example 4.4. Recall the PFNLS (U, A, \odot, \circ) (as in Example 2.2) where $U = (\mathbb{R}, \|.\|), \|x\| = |x| \forall x \in$ \mathbb{R} , $a_1 \odot a_2 = \min\{a_1, a_2\}$, $a_1 \circ a_2 = \max\{a_1, a_2\}$ for all $a_1, a_2 \in [0, 1]$. We consider P(x, t) = 0 $\frac{t}{t+k|x|}, Q(x,t) = \frac{k|x|}{t+k|x|}, R(x,t) = \frac{|x|}{t} t > 0.$ Further we suppose $\{s_n\}$ is Cauchy. Then $\lim_{n,m\to\infty} \frac{t}{t+|s_n-s_m|} = \frac{k|x|}{t+|s_n-s_m|} = \frac{k|x|}{t+|s_n-s_m|}$ $1, \lim_{n,m\to\infty} \frac{|s_n - s_m|}{t + |s_n - s_m|} = 0, \lim_{n,m\to\infty} \frac{|s_n - s_m|}{t} = 0. \quad Hence \quad \lim_{n,m\to\infty} P(s_n - s_m, t) = 1, \lim_{n,m\to\infty} Q(s_n - s_m, t) = 0.$ $0, \lim_{n,m\to\infty} R(s_n - s_m, t) = 0. We \text{ consider } U_1 = \{\frac{1}{k} | k \in \mathbb{N}\}. \text{ It is clear that } (U_1, A, \odot, \circ) \text{ is a PFNLS and } \mathbb{E}\{0, 1, 1, 1, \infty, 0\}$ $\{s_n\}$ is also a Cauchy sequence in (U_1, A, \odot, \circ) . However $\{s_n\}$ is not convergent.

Theorem 4.5. Consider two Cauchy sequence $\{s_n\}, \{t_n\}$ of vectors and a Cauchy sequence $\{\mu_n\}$ of scalars in a PFNLS (U, A, \odot, \circ) . Then $\{s_n + t_n\}, \{\mu_n s_n\}$ are also Cauchy in (U, A, \odot, \circ) .

Proof. As the proof is very straight-forward so we have omitted it.

Theorem 4.6. Suppose (U, A, \odot, \circ) be a PFNLS. If \exists a convergent sub-sequence of any Cauchy sequence in (U, A, \odot, \circ) , then (U, A, \odot, \circ) be a complete PFNLS.

Proof. Consider a Cauchy sequence $\{s_n\}$ in (U, A, \odot, \circ) . Suppose $\{s_n\}$ be a convergent sub-sequence of $\{s_n\}$ converging to an element s. Being a Cauchy sequence $\{s_n\}$ we have for t > 0 and $t \to \infty$,

+

$$\lim_{n,r\to\infty} P(s_n - s_{n_r}, \frac{t}{2}) = 1,$$
$$\lim_{n,r\to\infty} Q(s_n - s_{n_r}, \frac{t}{2}) = 0,$$
$$\lim_{n,r\to\infty} R(s_n - s_{n_r}, \frac{t}{2}) = 0,$$

 \Box

Also we have,

$$\lim_{n,r\to\infty} P(s_{n_r} - s, \frac{t}{2}) = 1,$$
$$\lim_{n,r\to\infty} Q(s_{n_r} - s, \frac{t}{2}) = 0,$$
$$\lim_{n,r\to\infty} R(s_{n_r} - s, \frac{t}{2}) = 0,$$

Then

$$P(s_n - s, t) = P(s_n - s_{n_r} + s_{n_r} - s, t) \ge P(s_n - s_{n_r}) \odot P(s_{n_r} - s, t)$$

which implies that $\lim_{n\to\infty} P(s_n - s, t) = 1$. In a parallel way we can see that

$$\lim_{n \to \infty} Q(s_n - s, t) = 0, \lim_{n, r \to \infty} R(s_n - s, t) = 0$$

Hence we are done.

Theorem 4.7. Suppose (U, A, \odot, \circ) be a PFNLS and

- (q) $\nu \circ \nu = \nu, \nu \odot \nu = \nu \forall \nu \in [0, 1].$
- (u) $\forall t > 0 P(x,t) > 0$, Q(x,t) > 0, R(x,t) > 0 implies that x = 0.

We define $\|x\|_{\gamma}^{1} = \bigwedge \{t : P(x,t) \geq \gamma\}, \|x\|_{\gamma}^{2} = \bigvee \{t : Q(x,t) \leq \gamma\}, \|x\|_{\gamma}^{3} = \bigvee \{t : R(x,t) \leq \gamma\}$ where $\gamma \in (0,1)$. Then $\{|x\|_{\gamma}^{1}\}, \{|x\|_{\gamma}^{2}\}, \{|x\|_{\gamma}^{3}\}$ are ascending family of norms on U. Above three norms are combined as γ -norms i.e. $|x\|_{\gamma}$ on (U, A, \odot, \circ) .

Proof. We know that for $x \in U$, P(x,t) = 0 for t < 0 implies $\bigwedge \{t : P(x,t) \ge \gamma\} \ge 0, \ \gamma \in (0,1) \implies |x||_{\gamma}^1 \ge 0.$

Now if $|x||_{\gamma}^{1} = 0 \implies \bigwedge \{t : P(x,t) \ge \gamma\} = 0$ implies that $x = \underline{0}$. Conversely $x = \underline{0} \implies P(x,t) = 1 \forall t > 0 \implies \forall \gamma \in (0,1) \bigwedge \{t : P(x,t) \ge \gamma\} = 0 \implies |x||_{\gamma}^{1} = 0.$

Again if c = 0 we are done. If $c \neq 0$, then

$$|cx||_{\gamma}^{1} = \bigwedge \{r : P(cx, r) \ge \gamma\} = \bigwedge \{r : P(x, \frac{r}{|c|})\gamma = \bigwedge |c|\{t : P(x, t) \ge \gamma\}$$

Finally,

$$\begin{split} \|x\|_{\gamma}^{1} + \|y\|_{\gamma}^{1} \\ &= \qquad \bigwedge\{t: P(x,t) \geq \gamma\} + \bigwedge\{r: P(y,r) \geq \gamma\} \\ &= \qquad \bigwedge\{t+r: P(x,t) \geq \gamma, P(y,r) \geq \gamma\} \\ &= \qquad \bigwedge\{t+r: P(x,t) \odot P(y,r) \geq \gamma \odot \gamma\} \\ &\geq \qquad \bigwedge\{t+r: P(x+y,t+r) \geq \gamma\} \\ &= \qquad \|x+y\|_{\gamma}^{1}. \end{split}$$

Suppose $\gamma_1 < \gamma_2$ and $\gamma_1, \gamma_2 \in (0, 1)$. Then $\{t : P(x, t) \ge \gamma_2\} \subset \{t : P(x, t) \ge \gamma_1\}$ which clearly implies that $||x||_{\gamma_2}^1 \ge ||x||_{\gamma_1}^1$. Thus $\{||x||_{\gamma}^1 : \gamma \in (0, 1)\}$ is an ascending on U.

Similarly we can validate that $\{|x||_{\gamma}^2 \ge 0, \ \gamma \in (0,1)\}.$

Now if $|x||_{\gamma}^2 = 0 \implies \bigvee \{t : Q(x,t) \le \gamma = 0 \implies x = 0$. Conversely

$$x = \underline{0} \implies Q(x,t) = 0 \; \forall t > 0 \implies \forall \gamma \in (0,1), \bigvee \{t : Q(x,t) \le \gamma\} = 0 \implies \|x\|_{\gamma}^2 = 0$$

Also if c = 0 we are again done. If $c \neq 0$, then $|cx||_{\gamma}^2 = \bigvee\{r : Q(cx, r) \leq \gamma\} = \bigvee\{r : Q(x, \frac{r}{|c|})\gamma = \bigvee\{c \mid c \mid t : P(x, t) \leq \gamma\}.$

Lastly

$$\begin{split} \|x\|_{\gamma}^{2} + \|y\|_{\gamma}^{2} \\ &= \bigvee\{t:Q(x,t) \leq \gamma\} + \bigvee\{r:Q(y,r) \leq \gamma\} \\ &= \bigvee\{t+r:Q(x,t) \leq \gamma, Q(y,r) \leq \gamma\} \\ &= \bigvee\{t+r:Q(x,t) \odot Q(y,r) \leq \gamma \odot \gamma\} \\ &\leq \bigvee\{t+r:Q(x+y,t+r) \leq \gamma \\ &= \|x+y\|_{\gamma}^{2}. \end{split}$$

Let $\gamma_1 < \gamma_2$ and $\gamma_1, \gamma_2 \in (0, 1)$. Clearly $\{t : Q(x, t) \leq \gamma_1\} \subset \{t : Q(x, t) \leq \gamma_2\}$. Thus $||x||_{\gamma_2}^2 \leq ||x||_{\gamma_1}^2$. Hence $\{||x||_{\gamma}^2 : \gamma \in (0, 1)\}$ is an ascending norm on U. In a parallel method one can demonstrate that $\{||x||_{\gamma}^3 : \gamma \in (0, 1)\}$ is also an ascending norm on U.

Lemma 4.8. Suppose (U, A, \odot, \circ) be a PFNLS which satisfies the Theorem 4.7. Suppose $\{u_1, u_2, \ldots, u_n\}$ be a set of l.i. vectors of U. Then for each $\gamma \in (0, 1)$, $\exists K > 0$ s.t. for any scalars $\gamma_1, \gamma_2, \ldots, \gamma_n$,

$$\|\gamma_1 u_1 + \gamma_2 u_2 + \dots \gamma_n u_n\|_{\gamma} \ge K \sum_{i=1}^n |\gamma_i|,$$

where K is a constant.

Proof. Here (U, A, \odot, \circ) is a PFNLS and $||x||_{\gamma}$, where $x \in U, \gamma \in (0, 1)$ is an induced norm on U. Hence $(U, ||x||_{\gamma})$ is a NLS. Therefore for each $\gamma \in (0, 1), \exists K > 0$ s.t. for any scalars $\gamma_1, \gamma_2, \ldots, \gamma_n$,

$$\|\gamma_1 u_1 + \gamma_2 u_2 + \dots \gamma_n u_n\|_{\gamma}^1 \ge K \sum_{i=1}^n |\gamma_i|,$$

where K is a constant holds in $(U, ||x||_{\gamma})$.

Theorem 4.9. Every finite dimensional PFNLS which satisfies Theorem 4.7 is complete.

Proof. Suppose (U, A, \odot, \circ) is a *r*-dimensional PFNLS. Consider a Cauchy Sequence $\{s_n\}$ in (U, A, \odot, \circ) . Then \exists a basis of U say $\{u_1, u_2, \ldots, u_r\}$ and scalars $c_1^n, c_2^n, \ldots, c_r^n$ such that $s_n = c_1^n u_1 + \ldots + c_r^n u_r$ holds. Again we know that

$$\lim_{n \to \infty} P(s_{n+p} - s_n, t) = 1 \forall t > 0, p = 1, 2, \dots$$
$$\implies \lim_{n \to \infty} P(\sum_{i=1}^{n+p} c_i^{n+p} u_i - \sum_{i=1}^n c_i^n u_i, t) = 1$$
$$\implies \lim_{n \to \infty} P((\sum_{i=1}^{n+p} c_i^{n+p} - \sum_{i=1}^n c_i^n) u_i, t) = 1.$$

6

Now for $\gamma \in (0, 1), \exists$ an integer $N(t, \gamma)$ such that

$$P((\sum_{i=1}^{n+p} c_i^{n+p} - \sum_{i=1}^n c_i^n)u_i, t) > \gamma \ \forall n > N$$
$$\implies |((\sum_{i=1}^{n+p} c_i^{n+p} - \sum_{i=1}^n c_i^n)u_i| \le t \ \forall n > N.$$

Since t > 0 is arbitrary, hence $\left(\left(\sum_{i=1}^{n+p} c_i^{n+p} - \sum_{i=1}^n c_i^n\right)u_i\right| \to 0$ as $n \to \infty$ which obviously implies that $\{s_n\}$ is a Cauchy sequence which converges in $s = \sum c_i u_i$ for some $s \in U$. Now

$$P(s_n - s, t) = P(\sum_{i=1}^n c_i^n u_i - \sum_{i=1}^n c_i u_i, t)$$
$$= P(\sum_{i=1}^n (c_i^n - c_i)u_i, t)$$
$$\ge P(u_1, \frac{t}{n|c_1^n - c_1|}) \circ \dots \circ P(u_n, \frac{t}{n|c_n^n - c_1|})$$
$$\Longrightarrow \lim_{n \to \infty} P(s_n - s, t) \ge 1 \circ 1 \dots \circ 1 = 1 \forall t > 0$$
$$\lim_{n \to \infty} P(s_n - s, t) = 1 \forall t > 0.$$

Again we have $\forall t > 0$,

$$Q(s_n - s, t) = Q(\sum_{i=1}^n c_i^n u_i - \sum_{i=1}^n c_i u_i, t)$$
$$= Q(\sum_{i=1}^n (c_i^n - c_i)u_i, t)$$
$$\leq Q(u_1, \frac{t}{n|c_1^n - c_1|}) \odot \dots \odot Q(u_n, \frac{t}{n|c_n^n - c_1|})$$
$$\implies \lim_{n \to \infty} Q(s_n - s, t) \leq 1 \odot 1 \dots \odot 1 = 1 \forall t > 0$$
$$\lim_{n \to \infty} Q(s_n - s, t) = 0 \forall t > 0.$$

Similarly one can demonstrate that $\lim_{n \to \infty} R(s_n - s, t) = 0 \ \forall \ t > 0$. Hence $\{s_n\}$ in (U, A, \circ, \odot) converges to $s \in U$. Thus (U, A, \circ, \odot) is complete.

Definition 4.10. Suppose (U, A, \circ, \odot) be an PFNLS. A subset $W \subseteq U$ is said to be

(i) closed if for any sequence $\{s_n\}$ in W converges to $s \in W$. Mathematically

$$\lim_{n \to \infty} P(s_n - s, t) = 1, \lim_{n \to \infty} Q(s_n - s, t) = 0, \lim_{n \to \infty} R(s_n - s, t) = 0 \implies s \in W.$$

(ii) bounded iff $\exists t > 0, 0 < r < 1$ s.t.

$$P(s,t) > 1 - r, Q(s,t) < r \text{ and } R(s,t) < r \forall s \in W.$$

(iii) closure of W_1 if for any $s \in W$, $\exists a \text{ sequence } \{s_n\}$ in W_1 s.t.

$$\lim_{n \to \infty} P(s_n - s, t) = 1, \lim_{n \to \infty} Q(s_n - s, t) = 0, \lim_{n \to \infty} R(s_n - s, t) = 0 \ \forall \ t \in \mathbb{R}^+.$$

In that case $W_1 = \overline{W}$.

Theorem 4.11. Suppose (U, A, \circ, \odot) be an PFNLS. Every Cauchy sequence in (U, A, \circ, \odot) is bounded.

Proof. Suppose $\{s_n\}$ be a Cauchy sequence in PFNLS (U, A, \circ, \odot) . We consider a fixed l_0 such that $l_0 \in (0, 1)$. Then $\lim_{n \to \infty} P(s_n - s_{n+p}, t) = 1 > l_0 \ \forall \ t > 0, p = 1, 2$. For another $\tilde{t} > 0 \ \exists \ \tilde{n}$ such that $P(s_n - s_{n+p}, \tilde{t}) > l_0, p = 1, 2, \ldots$ Since $\lim_{n \to \infty} P(s, t) = 1$ we have $\forall \ s_i, t_i > 0$ such that $P(s_i, t) > l_0 \ \forall t > t_i, i = 1, 2, \ldots$ Suppose $t_0 = \tilde{t} + \max\{t_i\}, i = 1, \ldots, \tilde{n}$. Then

$$P(s_n, t_0) \geq P(s_n, \tilde{t} + t_{\tilde{n}})$$

= $P(s_n - s_{\tilde{n}} + s_{\tilde{n}}, \tilde{t} + t_{\tilde{n}})$
> $l_0 \circ l_0 = l_0 \forall n > \tilde{n}.$

So $\forall n = 1, \dots, \tilde{n}, P(s_n, t_0) \geq P(s_n, t_n) > l_0$. Hence $P(s_n, t_0) > l_0 \forall n = 1, 2, \dots$ Again we have $Q(s_n - s_{n+p}, t) = 0 < (1 - l_0) \forall t > 0, p = 1, 2, \dots$ Now again for all $\tilde{t} > 0 \exists \tilde{n}$ we have $Q(s_n - s_{n+p}, \tilde{t}) < 1 - l_0 \forall n \geq \tilde{n} p = 1, 2, \dots$ Since $\lim_{t \to \infty} Q(s, t) = 0$, we have we have $\forall s_i, \tilde{t}_i > 0$ such that $Q(s_i, t) < 1 - l_0 \forall t > \tilde{t}_i, i = 1, 2, \dots$ Suppose $\tilde{t}_0 = \tilde{t} + \max{\{\tilde{t}_i\}}, i = 1, \dots, \tilde{n}$. Then

$$Q(s_n, \tilde{t}_0) \leq Q(s_n, \tilde{t} + \tilde{t}_n) \\ = Q(s_n - s_{\tilde{n}} + s_{\tilde{n}}, \tilde{t} + \tilde{t}_n) \\ < (1 - l_0) \odot (1 - l_0) = 1 - l_0 \ \forall \ n > \tilde{n}$$

So $\forall n = 1, \ldots, \tilde{n}, Q(s_n, \tilde{t_0}) \ge Q(s_n, t_n) < 1 - l_0$. Hence $Q(s_n, \tilde{t}) < 1 - l_0 \forall n = 1, 2, \ldots$ Now for the same procedure and for $\tilde{t_0} = \tilde{t} + \max\{\tilde{t_i}\}, i = 1, \ldots, \tilde{n}$ we can again show that $R(s_n, \tilde{t}) < 1 - l_0 \forall n = 1, 2, \ldots$. Let $\bar{t} = \max\{t_0, \tilde{t_0}\}, \bar{t_0}$. Finally we have

$$P(s_n, \overline{t}) > l_0, Q(s_n, \overline{t}) < 1 - l_0, R(s_n, \overline{t}) < 1 - l_0 \ \forall \ n = 1, 2, \dots$$

Thus $\{s_n\}$ is bounded in (U, A, \circ, \odot) and we are done.

5. Conclusion

In this manuscript we have discussed the concept of PFNLS for the first time. The concept of PF norm is also discussed. Later convergence of a sequence as well as Cauchy sequence in PFNLS have been examined. All these concepts are illustrated with examples. Finally associated properties and characteristics of PFNLS have been shown here. In future we will study the concept of PF n-NLS and PF Metric space.

References

- 1. Zadeh, L.A., Fuzzy Sets, Information and Control, 8, 338-353, (1965).
- 2. Atanassov, K., Intuitionistic fuzzy sets, Fuzzy Sets and Systems, 20, 87-96, (1986).
- 3. Atanassov, K.T., More on Intuitionistic fuzzy sets, Fuzzy sets and Systems, 33, 37-45, (1989).
- 4. Felbin, C., Finite dimensional fuzzy normed linear spaces, Fuzzy sets and Systems, 48, 239-248, (1992).
- 5. Gu,W., and Lu,T., Fuzzy linear spaces, Fuzzy Sets and Systems, 49, 77-380, (1992).
- 6. Felbin, C., The completion of fuzzy normed linear space, Journal of Analysis and Applications, 174, 428-440, (1993).
- 7. Krishna, S.V., and Sarma, K.K.M., Separation of fuzzy normed linear spaces, Fuzzy sets and Systems, 63, 207-217, (1994).
- Cheng,S.C., and Modeson,J.N., Fuzzy linear operators and fuzzy normed linear spaces, Bull. Cal. Math. Soc, 1994, 86, 429-436, (1994).
- 9. Kim, S.S., and Cho, Y.J., Strict convexity in linear n-normed spaces, Demonstration Math., 29, 739-744, (1996).
- Atanassov, K.T., Intuitionistic fuzzy sets, Theory and applications, Studies in Fuzziness and soft Computing, 35, Physica-Verlag, Heidelberg, (1999).
- 11. Felbin, C., Finite dimensional fuzzy normed linear spaces IIb, Journal of Analysis, 7, 117-131, (1999).

- Bag,T.; Samanta,S.K., Finite dimensional fuzzy normed linear spaces, The journal of fuzzy Mathematics, 11, 687-705, (2003).
- 13. Bag, T.; Samanta, S.K., Fuzzy bounded linear operators, Fuzzy Sets and Systems, 151, 513-547, 2005.
- 14. Bag, T.; Samanta, S.K., Fixed point theorems on fuzzy normed linear spaces, Information science, 176, 2910-2931, (2006).
- Samanta, T.K. and Jebril, H.I; Finite Dimensional Intuitionstic Fuzzy Normed Linear Space, Int. J. Open Problems Compt. Math., 4, 574-591, (2009).
- Wang, H.; Smarandache, F.; Zhang, Y., and R. Sunderraman, Single valued neutrosophic sets, Multispace and Multistructure, 4, 410-413, (2010).
- Issac, P.,and Maya,K.,On the intuitionistic fuzzy normed linear space (Rⁿ, A), Int. J. Fuzzy Math. and Systems,2,95-110, (2012).
- Bag, T., Samanta; S.K., Finite dimensional fuzzy normed linear spaces, Annals of fuzzy Mathematics and Informatics, 6, 271-283, (2013).
- Cuong, B. Cong and K., Vladik, Picture Fuzzy Sets a new concept for computational intelligence problems, Departmental Technical Reports (CS), 809 (2013).
- 20. Bui C. C., Picture Fuzzy Sets, Journal of Computer Science and Cybernetics, 30, 409-420, (2014).
- 21. Bera, T., Mahapatra, N.K., Neutrosophic Soft Normed Linear Spaces, Neutrosophic Sets and Systems, 23, 52–72, (2018).
- Dinha, N.V., Thao, N.X., Some Measures of Picture Fuzzy Sets and Their Application in Multi-attribute Decision Making, I.J. Mathematical Sciences and Computing, 3, 23-41, (2018).
- Ashraf, S.; Mahmood, T.; Abdullah, S.; Khan, Q., Different approaches to multi-criteria group decision making problems for picture fuzzy environment, Bull. Braz. Math. Soc. New Series, 1-25, (2018).
- Jana, C.; Senapati, T.; Pal, M.; Yager, R.R., Picture fuzzy Dombi aggregation operator: Application to MADM process, Appl. Soft Comput. J., 74, 99-109, (2019).
- Zeng, S.; Asharf, S.; Arif, M.; Abdullah, S. Application of Exponential Jensen Picture Fuzzy Divergence Measure in Multi-Criteria Group Decision Making, Mathematics, 7, 191, (2019).
- Muraliskrishna, P.and Dass, S.K., Neutrosophic approache on Normed linear Space, Neutrosophic Sets and systems, 30,226-239, (2019).
- Bera, T., Mahapatra, N.K., Continuity and convergence on neutrosophic soft normed linear spaces, International Journal of Fuzzy Computation and Modelling, 156-186, (2020).
- Khan, V.A., Esi, A., Ahmad, M., Khan, M.D., Continuous and bounded linear operators in neutrosophic normed spaces, J. Intell. Fuzzy Syst., 40, 11063-11070, (2021).
- Khan, V.A., Esi, A., Ahmad, M., Khan, M.D., Some results of neutrosophic normed space VIA Tribonacci convergent sequence spaces, Journal of Inequalities and Applications, 1–27, (2022).

K. Sinha,

Department of Mathematics, A.B.N. Seal College, Cooch Behar, India 736101. E-mail address: kalyansinha90@gmail.com*

and

P. Majumdar, Department of Mathematics, Bolpur College, Bolpur, India 731235. E-mail address: pmajumdar2@rediffmail.com